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Let's onsider a deck of cands: S2cards, 4-suks, 13 cowdds th swiks.

@ Whats the ?mbmb{y that Michoel will seleet 2 kings Vit
replacement’
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©, W\nﬁ& E,\)e pbsbiliby thart Jocden vil draw . spade and then
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[New] Condibinl, Probability

* Conidimal PNboJo'vaJ@— ontains o cmdbmthat restiichs (or limits)
the Sample Space fp( an evond .

wigm P(AB) = "The prbabldy of evart #, Gven everts B ocumrs”

Basically wim are narowing your possibileies only o "B & ouf of
those *B” possiility {iud ot W nany “B" there Gte actwally v,

Let consider the tble shawihg the reswits of a Survey, "Doyou
mn a pett”

Jes | No
Female | < b
Male | S | 7

(Examples) fivd the pobapilifies,

@ ?(owm]oftlfcmle) = 0ut of females, Somn a pet.

1 = %
i 51 S

@ f({tw\le\o\m\ et ) = oub of 13 pek owners, € are A females
- 5. k2%
e 62 2
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mﬂe& Trgw’f?lgle chws the Yesulds of aclass survey, *Do you v te

Jes | No
Female | 3 b
Male | T b

%ﬁh{t&'s‘;ﬁa Mm,ghd@ that & stwdent Washed deches given the

P(wnshed diches |male) = ot of 5 males; washed diches.
ke 1= it

P (femole| wached dishes)= outof 4 stwhorix whowshed dishes T
wert female

Eedes

* Remember — Dninh Freqpencies |
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br Wor&pwbems « use firmule

PA(R) = P(MNP®B) . Pt P
P®) PB)

[Erample ] A L\’El\mSenng the pribdbily UM&JL A s{v«imjc tales cr\vmmtaL
S(/\cnce 960 A;k Tge \Fk en\/;mnmon
Stignce L Oﬂ% Whot is H\e mbn do AsJoAdm takes geopphy

given that the shatent (s 1aking er\vmm ) ciemee’

P eomphs| erviomat; sice) = Pspoqrmn) N flomioundalsvionts)
P (eninmortil, siowe)
= 025 = 1 =@3%)
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